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812-* & F : R* 6 7. + & W,5 A $ + & <+
& - 0& & 12 " * +4 &6 & -* -08%9 6
> $$6 7 ! (L - * -1 < B

y  ( $F% $F-] !

Universal Knowledge Solutions s.a.l.
22
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program equation;
begin
read a;
read b;
read c;

delta=b?- 4" a’ C
if delta<O then
begin
write “No Solution”;

end;

if delta = 0 then

begin
write “One Solution:”;
- b ]
sol=——;
2  a
write sol;
end;

if delta >0 then

begin
write “Two Solutions:”;
sofl=" b+, delta;
2 a
So|2:-b-,—de'ta;
2  a
write soll,sol2;
end;
end;
/2
3% 3
n
Xi
Average=1=L
n
- * N* < #, % &+ B " 4D + <! < #.,7D+
“( 1Y (7D+ - J $ % . $* 7D +
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%

#& & U + U ( *

> ( -i- c
> ( -iL c
> ( 2)4A0 +#) $%67 ! c
> -0 &1( = c
$! Q
H + <*5 #% / ( (
n
(x; - Average
StandardDeviaibn = 1= -
Average + 4D + <! < #,7D+ Xi S+ R*
$ 7D+ % O , u& m-* N* < #,
“( 1Y (7D+
#& & U + U ( *
> ( -i- c
> ( -iL c
> ( 2)40 +#) $%67 ! c
> -0 &1( - c
$ Q
=6 +U %3 !
ax+b=c
"k X + *)4  *% ** F a,b,c + R*
#&,
> 6 + ) -+ B
—* R* 6 + %
> (- a
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>( L "
> ( 40 +# ) $%$6 7 ! "c
" =& ( d
$& Q
=$ +U %3!
ax+hby=c
FOX * N ! * X +1 * y X -+ *)4 *0% ** F a,b,c +
"ROY * N# * S+ - 2 y
& Yo XoZy x3+ $ +7* 1 ax+thy=c $ ( 0(% (xo,y0) ,( - (
&
a'x0+b'y0=c
5 1+4°2=13=6 $ ( @2, Bx+4y=13 $ -% -? -$ &+4
=*R* $ (9 ( W* # &,
P, ( $ $3 N ( - "e
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NM=HN+1

b
UM =85UM + N

NO
EYES
PEINT ST
EHD

"a$ 0& A B,C % ?2.? 6 + ) $0 (-2 HL)4
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START

.

READA B, C

F
PRINT C PRINT A

PRINT C

, B

END

FRINT B

"a$ & 2 NR*P& NNNI#$*)4 $O ( -2 HL )4
(N!'= N * (N-1) * (N-2) * (N-3) * ... * 3* 2 * 1)

START

READ M

0 g

o=

]
l
]

*
=

o

4 M=II+1
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# JK 2A #12
= IC-1 )4
"PY * $ /' (:R* NO& $ N- ) 6B )+ NY* % /(
“isinteger(k) D 2D %Y* k :1 44+ &U $ U %3 ' %U(: $3
"0+ A )+ % % /(
"sqr()B 2k B #$* B U %3 ! %UC $3
"6 F $¢ 6 F &? #%$* F -JU YS$/(
$ 2 , *+& '6 U $ =?"** + '6U $ #$*YS$/(
2 +& '6 U
“isinteger(k) D 2D %Y* k :1 44+ &U $ U %3! %U: $3
/)T )
>+ @9 7 & / , !
Bl( @%$717& 0 #+% @ $ 78& 1/
Y BI( @$717 & : |/ %@ $ 7 & / -
Y BI( @%$717 & / 0% @ $ 7 & / Y*
Y > - (o
PNindows 2 - (
T O - ( +
Y >* E)Y 1 )4/ ( ?2%-*:
Y >* E)A/( ?%- 1)(:
Y "* E)+, | $ % :
o 4 S
PN>7 D
P N>
PNY ( <
P N>W ?
P N>
PN>&: 04"
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72k
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C# 7$%% & $ 12)4<+(

$11&" ()
=& -1 12 )YA#, <+
Dot Net , ,* -
> $%$6 , (6
>0 , (6
>7 ? TD*

( $* 7 &+
>$8$6 7 &+ 7 &4%

<0
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Microsoft Dot Net

"“Dot Net” $ 7* - : ) ( ,)47 + + & B $ Microsoft 7* F
= 7! B - &Y, ) $ab\ 146 & 1 <( (
ST((W, %)& W, (: *( W, B-+ 4!
7 & -H*R* * 2 : o 7 & 7.+ B
>7 + ] B-+&
& 7 0 $ & &* 7 & ?2) W,9 & -*
>7( (5
>+ 0& &, R* )4 & 14, ) #* - ¢
>0 5 * 0 0& :/ H, : 2 7(:
- )4/ $ (Dot Net Framework) O O,* Dot Net-. Microsoft (
oY -+ H#T ., % Windows- G -+ %27 ,7(:0 9%
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Dot Net Framework & [/ 0!

VB.Net Perl C++ C# Eiffel# J# JScript

7 & *S <
(Common Language Specification - CLS)

#7 $70
(Web Services) (User Interfaces)

u ) 4- ,*
(Common Runtime Environment)

- X
(Operating System)

"1/ 0& * C & $) 7, Dot Net-+ , ( $

O :(0) (> 6 - & % a (s 7, - 12 )4 3+ $($

"k 10 2 2% #&$WCH & H(

C# & !

= 7 &+ 1Wisual Studio.ne? ? +

Microsoft Visual Studio .NeA.F : Start #21
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Mews OFfice Document

Open Office Document
Powerarchiver
Windows Catalog
Windows Update
WinZip

Programs [@ Accessaries
Studio .MET 2003 @ Visual Studio .MET Enterprise Features
Ay Documents 3 [@ Morton Antivirus Corporate Edition » f@ Wisual Skudio \MET Tools
Settings . :@ Powerarchiver 2000 f ual Studia .MET
(i@ Skype Launch Wisusl Studio .MET 2003 fntation
Search 3 f@ Spyware Dockor
I/ winzip

Help and Support [@ MathType 5

Rur...

s XP Professional

= )4 2'B Y4 14( #21 Visual studio .NeA.F ( "

@9 Microsoft Development Enyironment [design]| - Solution Explorer,

File | Edit Wiew Tools ‘Window Help

| Mew P IE eroject... cuwlshifetn |
Jpen 5] Ele... Chrl+M idate (DTD) |:;F-|-‘
Close Lol Blank Solution... 1
Add Project »
E? Qpen Solution. 1
G saveal Chrl+5hift+5
Source Control »
Recent Files 3
Recent Projects ¥
Exit

$ *B ( 14/ Consol Application $ 14 ( C# Project 2 ( U(: "
= )4Y 2 :-1$6 )4 (
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Hello.csO.? :

Microsoft Development Environment [design] - Solution Explorer

Eile

iq-

Edit  Wiew Tools ‘Window

(=3

Help

@ e - BERR

B about | WhParse T_Fiker OF Convert validate (x50} [E] validate (DTD) | [ TexttoxML PHOLEDBto XML | V7 #Path &% DOMEdior 5237
Solution Explorer |
New Project |Z|
Be b
\ Project Types: Templates: BB o
[ Wisual Basic Projects
"5 Wisual Ca# Projects % @
{11 visual J# Projects i H
E‘D Wisual C++ Projects Smatk Device  ASP.MET Web ASP.MET W
{Z1] Setup and Deployment Projects Application  Application Servi
ED Other Projects = o =
[ isual Studio Solutions %? =
&SP MET Web Control Console
Maobile 'W... Library Application v
|F'. project for creMgga a command-line application
Mamme: MyFirstapplication
Location: L‘ Browse, .. |
Project will be created afld:\MyProjectiMyFirstapplication.
| |
FMore | [0]4 I Cancel | Help |
n
H1 $5 $  classlcx & )( , W, 0 &U *(
View Code 0 #21 )( @ % ?
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@% MyFirstApplication - Microsoft Visual C# .NET [design] -

File Edit \Miew Projeck Build Debug Tools  Window  Help

H-ta-EHE@ & B )

&) about W% Parse ©_Filker Cg Convert YWalidake (X500 Wali

Solution Explor...irstApplication | Class1.cs

= 3] @
E Solution "MyFirstapplication’ (1 project)
- @Mrﬁrsmpplicatiun
+- =] References
App.ico

B AssemblyInfo,cs

G Cioss g
]

Cpen
Cpen With,..
=] View Code

Exclude From Project
# o ocut
Copy
*

Delete

| Rename

Propetties

=:$HL / ( \)
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@9 MyFirstApplication, - Microsoft ¥isual C# _NET [design] - Class1.cs

File Edit ‘Wiew Project Build Debug Tools  ‘Window  Help
H-im-=s @@ & B &- » Debug -
Fl %l a2 &2 = 2

i @
A4 % %

© sbout %Y Parse T _Filter OF Convert validate (%507 [E] validate (DTD) [ Text ko XML FqoOLE |

Solution Explorer - MyFirstapplication  Classl.cs |

42

using Ivstemw:
E namespace MyFirsthipplication

i
J—] FAF <aunmar v
/47 Summary description for Classi.
B FA o/ swmmarys
=1 class Classl
{
= A <aummar v
J77 The main entry point for the application.
fAF </ surmmar v

- [ETAThread]
= static wvoid Maini(string[] args)
{
A
S TODO: Add code to start application here
i
= H
= '
'
=+ ) 1C , )& 4Y -6 U (

using System;

namespace MyFirstApplication

/Il <summary>

/Il 1 would like to say Hello Universe

/Il </lsummary>
class Hello

{
- <s

/Il The main entry point for the application.
/Il </summary>

public

ummary>

static ~ void Main( string [] args)

{
Console.WriteLine("Hello, Universe");
/I lterate over command line arguments,
/I and print them out
for ( int arg=0;arg < args.Length; arg++)
Console.WriteLine("Arg {0}: {1}", arg, args[ar al);
}
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® MyFirstApplication - Microsoft Visual C# .NET [design] - Hello.cs

Fil=  Edit Wiew Praoject  Build Debug Tools  Window  Help

H-m-=Ea # B - &~ » Debug - @ e
EE B b ax | £ =2 4% %% .

€ about | W% Parse W_Filker O Convert Validate (%50} Walidate (DTD) | [55F Text to xML [ OLE DB ko XML

Solution Explorer - MyFirstapplication  Hello.cs |

2 =l [

using Iystemn;?

] namespace MyFirsthApplication

{
J—] A4 <sunmarys
A48 1T would like to say Hello Universe
- S < summar v

i class Hello
{

F4F <summar v

44 The main entry point for the application.
r FA < sunmar v

= public static wvoid Maini(string[] args)

{

Console.WritelLine ("Hello, Uniwverse™):

f4 Iterate over command line arguments,

J4 and print them out

for (int arg = 0; arg < args.Length: arg++)
Console.WritelLine ("Arg {0}: {1}7, arg, args[argl):

Start? Debugl!( 0 #21 * W* U ( ue "
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@9 MyFirstApplication - Microsoft Visual C# .NET [design] - Hello.cs

File Edit Wiew Project Buld | Debug | Tools  ‘Window  Help

@‘-EYE’; $ By Windows » - e
[ = B =2 4%t
' - n
O cbout | Y Parse T_Fiker OF| * Start ‘Without Debugging ChrHFS [ Text to ML [ OLE DB to kML
_ ) __ _Eﬂ; Processes. ..
Solution Explorer - MyFirstApplication | -
L Exceptions. ., ChrlHAlt+E
42 N | |=o
: %= StepInto F11
using Lystem;
L= Step Cver F10
El namespace MyFirstlipn @ Mew Breakpaoint. .. Chrl+B

{

SAd <sunmarys
A4 T would like to say Hello Uniwverse
A4 </ sunmar v
class Hello
{

= FA <sunmmary

/77 The wain entry point for the application.
- AA4 </ aummar v
= public static wvoid Mainistring[] args)
{
Console.Writeline ("Hello, Uniwverse'™):

ff Iterate over comrand line argquments,

ff and print them out

for [(int arg = 0; arg < args.Length!: argt++)
Console.WritelLine("Arg {0}: {1:", arg, args[argl):;

$ 7r - o Dos Command PromptO  / ( 1!( U1 + : "
MyFirstApplication.exe

Command Prompt

A7:27 AM 4,015 MyFivstApplication.csproj
87:35% AN 1.883 HMHyFirstApplication.csproj._user
A?:35 AN 221 MyFirstApplication.sln
a9:27 AM <DIR> ohj

&6 Fileds> 18,755 hytes

4 Dir<s> 1.563.451.392 huytes free

D:“MyProject~MyFirstApplication>cd hin
D:“MyProject~MyFirstApplicationshin*cd debug

D:~MyProject~MyFirstApplication~hin~Debug>dir
Uolume in drive D is Data
Uolume Serial NHumber is D836—C733

Directory of D:“MyProject MyFirztApplication~bin~Debhug

A?.-27-2086 A92:35 AM <DIR> .
A7 ./27-2006 <DIR> .-
a9 .27 .-2006 16,384 MyFirstApplication.exe
A% .-27.,20086 11,776 MyFirstApplication.pdh
i 28,1608 bhytes
2 Dir<s> 1.563.451.392 huytes free

D:“MyProject~MyFirstApplication~hin~Debug>

7.+ [ ( 1(U1l+ : "
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Command Prompt

D:=“MyProject~MyFirstApplication~bhin~Debug*MyFirstApplication.exe
Hello. Universe

D -“MyProject ~MyFirstApplication~bhin“Debhug¥>

ommand Prompt

D:~MyProject MyFirstApplication~binsDebug>*MyFirstApplication.exe SUU Students
Hello,. Universe

frg A: SUl

Arg 1: Students

D:=“MyProject~MyFirstApplication~bin“Debug>
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% !

using System;
namespace MyFirstApplication
/I <summary>
/Il 1 would like to say Hello Universe
I </summary>
class Hello
{ /Il <summary>
/Il The main entry point for the application.
/Il </lsummary>
public static  void Main( string [] args)
{ Console.WriteLine("Hello, Universe");
/I lterate over command line arguments,
/I and print them out
for ( int arg=0; arg < args.Length; arg++)
Console.WriteLine("Arg {0}: {1}", arg,
argsfarg]);
}
}
}
2 <! H1 “system”9 $6 948 ( & D& ‘“using system” + T[$K -
>0 W, 0 $:) 4s+
“Command 2 () S(7 & 0 B-+& T[$ “system” $6 9 4  “Console’< ) (
(- (™D Prompt”
"S(7 & 0 & 20 <* &$&$ . “Writeline” 5 “Console’< $
>-?2 11 W,(,(2 “Main” & H * “Hello” O! -? <+
0 W, & $(?% 0& @ % % 45 *“Hello Universe” 0'J 5
"S( 7 &+
r/
7D* A% A(-=< +H\ "D* <+ - )A0) ,$ ,(6 % $/ &
"TI$ ,( W&+ 7 1 9
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using System;

namespace MyFirstApplication
/Il <summary>

Il </[summary>
class Hello2

{

{

ik Byte 3 /
1 .@4"!

255 0 G = 1 byte
+127 -128 G 71** F 1 sbyte
+2% 21 G 71** F 2 short

211 0 G *%x F 2 ushort
+2%0 %1 G 71** F 4 int

221 0 G = 4 uint
+2%° 281 G 71** F 8 long

21 0 G x* F 8 ulong

F% ~.,$ F & 4 4 float

H F ~1 F & 4 8 double

26 & H F - F : decimal
< * 838$ string
5536 F NUnicode B <* 16 char
FALSE %TRUE @*1; bool
$
/Il 1 would like to say Hello Universe
<summary>
The main entry point for the application.
</summary>
static void Main( string [] args)
int ' Y=2006;
string  s="Hello, universe : ";
Console.Write(s);
Console.Write(Y);
Console.WriteLine();
110 ( ( &-%
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e+ Command Prompt

D=“MyProject MyFirstApplicationsxhinsDebug*MyFirstApplication.-exe
Hello. universe : ZBW6

D:=“MyProject “MyFirstApplicationsbinsDebug’_

7D* A (% A(=<+H\ "D*<+ - )0) ,$ ,(6 % $/ & :
"TI$ ,( W&+ 7 1 9 * 2

ENUM UVH /

= *x 0% 2 <+ )4 $) ,$ ,(6 enum, ( +

enum Day { Monday, Tuesday, Wednesday, Thursdagaizr
Saturday, Sunday}

By default : Monday=0, Tuesday=1, Wednesday=2 r3dhay=3,
Friday=4, Saturday=5, Sunday=6

short % sbyte % byte=** | (6 *% ) (H1 ] ,( enum,( ( ( -:U&
"ulong % long % uint % int % ushort %
F $ OF enum,( ( -6 (+ 1; enum,( (+) & ,( 2 int,(

"( n =% nl1  * (+

=7 (+ 9$%Q(U& & I[, (%<+ C# -
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enum Day { Monday, Tuesday, Wednesday, Thursdagiaizr
Saturday, Sunday}

enum Weekend { Friday, Saturday, Sunday}

I( )a-* 2 % D ( % & (0 (( (@28
= )4 2 ( )+ HL)

(D #

using System;
namespace MyFirstApplication
{
class Enuml
{
enum Day { Monday, Tuesday, Wednesday, Thursday, Friday , Saturday, Sunday}
enum Weekend { Friday, Saturday, Sunday}
public static  void Main( string [] args)
{
Day ADay ;
Weekend WE;
ADay= Day.Saturday;
WE= Weekend.Saturday;
if ((Day)WE==ADay )
System.Console.WriteLine("Same Day");
else
System.Console.WriteLine("Another Day");
}
}
}

Command Prompt

D=“MyProject ~MyFirstApplication~bin~Debug>*MyFirstApplication.exe
Another Day

D:=“~MyProject ~MyFirstApplication~bin~Debug>
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C# . #-

3 ,,&04 F6 <* &%$&%$0 0&F a N{(. 6<* <*7D* 9 3%$%N%

(Characters with Accentsy 57 1<*6 % "u" %" " = <* *% $ : W$ 45
"(! <*6:

$
=% F 7D* <+

int GoodMorning ;
int Enumération_fin;
double Value ;
char UnCar ;

bool Test;

=0 % F ($B7D* <+

int GoodMorning=50 ;
int Enumération_fin=10;
double Value=2.3;
char UnCar='K';

bool Test= false ;

C# . #

2 T[$K R* “readonly” “const’= % O : D) 7D* & D& 1 & CH U&
"@ % *! &HW-F77? %-* <+ ( &

Z: -* < <+ : O 00+ ( F1; % constZ: 41+ 7 & & #
"O ?Y 4£onst
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const int Num=0; // Accepted
const int Num; /I Error — without Initialization
8 *-+ (: (;, R* Num7 ?& ($ #$
namespace MyFirstApplication
{
class Testl
{
public  static void Main()
{
const int Num=0;
Num = 10;
if (Num<0)
System.Console.WriteLine("Negative");
else
System.Console.WriteLine("Positive");
}
}
}
0: : "t 5 0+ :D,4<! )49 % : Y& )04 readonlyZ: 41+ 7 & %
290 N, 4k 9H <+ (O $ R* <! )49 ;: 0+ ( F
"*D 0& <+ $
$
readonly int Num=10; // Accepted
readonly int Num; // Accepted
OI!E)C#.#! &
+ ! #1 & +
'E i 1 &
+a; +h; +1; x=+z; n
-a; -b; -(5+X); y=-(6*u); $ c
at++; ++y; v=t++c; * ++
X-=; ==Z; X=--D; * ( cc
(a*b); x*y; 6*z; x=a*b; # & o
(a/b); x/5; y=uly; $ & /
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X%5; z%a; z=u%t;

$ )F &

%

at+b; (x+y)+z; t=x+y,

B &

-a-b; x-y-z; t=x-y-z;

G, &

812)4 0 +$() D $*

O 'E) C# .#!
+ H #!13

7 &+

&

+

C#

'E.

a>b; a>(x+y);

a>=b; a>=(x+y);

a<b; a<(x+y);

a<=b; a<=(x+y);

ol o1 o1l O

a==b; (x+y) == (z+r);

al=b; (x+y) = (z+r);

812)4 0 +$() (0 (

O 'E) C# .#!
+ 1/ #1 &

7 &

&

+

C#

&

! ((ath) <6);

)

((@+b)<6) & ((x+y)>7);

((@+b)<6) | ((x+y)>7);

%

((a+b)<6) && ((x+y)>7);

(B* xx

((@+b)<6) || (x+y)>7);

11

(B %
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I((a+b)>8)

((@+b)<6) &

((@+b)<6) |

& -1 *
)4, *%

"x812)4 0 +$() D (7 &+ 7 2 C#
Ol'E)CH#H . #! &
+ 1/ #1 & 3#5] +
+& * - T R* * . *< W * 31 ( )( I & "+K
=2
atb > 8 I ((a+b) > 8)

True False

False True
+& * - : R* % * 4, W* 3! ( X X & & +K
07? ((x+y)>7)

(ath)<6 (x+y)>7 ((@+h)<6) && ((x+y)>7)

True True True

True False False

False True False

False False False
+& * - T R* * o x4 *pW* 3| ( X% w& +K
07? ((x+y)>7)

(atb)<6 (x+y)>7 ((@+b)<6) | (x+y)>7)

True True True

True False True

False True True

False False False
- QU &+ &U& 1 &? %, ( || & +K: &%, xx && & +K
%) - 4, & DO? && *)4 (%7 &+ 812 2% %D # &
"0& : + H *; FOD % @ HN +

*< W * ( N & 3!
* * 4 , W*  ( xx & 3!
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vk o4 AN * ( R6& 31 *)4

2% %D # & +xXx% + xx& - * - &?76 X & &?6xx& y:U&
Y4, *% %) - 4, & D &?6 xx *)4 -?2 -$& (%)4 :7 &+ 812
"0& + H *; ROD % @ HN +

O !E)C#H.#! &
+#1 & #1E) +

>7 &46 & -* % Q Ft

3 S ((x+y)>2) && (z<8) +& :-? - % &

(x+y)>2) + * %, * z ( ( X+ty#$* D %H o
Xz<8) + * %, * Zz F( 2+H 0
L& &+ ] * - O+ ((xty)>2z)&&(z<8);, % * W* U1l +H o)
&46 717 &+ & $% 0 &46 717 &+N7 &4t O+ 7 &+ 1 Q F% -*)4
RJ 1:2
>$ & &+& $6 4 &46 Q( 0 & -%&$-*)4 % -

3 $ (xty>z8&&z<8) +& :-? -$ &
MD%WHP &46 7IN® 1% ( &+ $( P &46 7IN $%U&B x & % o]

Xxty)>z + * %; * z ( ( x+y # $*
&46 7IN ,( xxZ &+ $( B &46 7IN $% U&XO %X ( & % 0]
2<8 + * %;, * z ( ( z<8#$* D %H P
L& &+ ] * - O+ (xty>z&&z<8);, % * W* U1+ H 0
w I &

>HE& -*& 2 ($ Console<& + ReadLine%Read &+ $( %,$,(1-* F

0% & &+ -F O09F7 (& % 13 * &$&$,(U& ReadLine%Read 0+ ) % D
||;|123n < * &$&$
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(

I (, (6 W4

N, R* D + @1 I( ™ 1%
9 1 @(-*)4 P

using System;
namespace MyFirstApplication
{ class Testl
{ public static  void Main()
{
int Num;
Console.WriteLine("enter The Requested Value: ")
Num=Console.ReadLine();
if (Num<0)
System.Console.WriteLine("Negative");
else
System.Console.WriteLine("Positive");
}
}
}
, Parse J. -*7 $(%) * %Y (- % (% (%-*)aH 1
3 /( )A-* 2 2 F 1232 <* &$&$-* ) ,$ , (6 (-
namespace MyFirstApplication
{
class Testl
{
public  static void Main()
{
string  s;
int  Num;
Console.WriteLine("enter The Requested Value: ")
s=Console.ReadLine();
Num=Int32.Parse(s);
if (Num<0)
System.Console.WriteLine("Negative");
else
System.Console.WriteLine("Positive");
}
}
}
& 4<! 812 ( "Parse 5 U& - <,$,(- 0]
" /
Byte byte
SByte sbyte
Int16 short
Uintl6 ushort
Int32 int
Uint32 uint
Int64 long
Uint64 ulong
Single float
Double double

ReadLine &+
+-* 2(% *)H)4* (7

$ H\
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0]

ar

using System;
namespace HelloWorld3s

class Welcome3

{

static void Main( string []args)

Console.WriteLine( "Welcome\nto\nC#\nProgr
}
}
}

amming!" );

gL

using System;
using System.Windows.Forms;

namespace WelcomeGUI
class Welcome4
{

static void Main( string []args)

MessageBox.Show( "Welcome\nto\nC#

\nprogramming!" );

o!

lll

lll

+

0!
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using System;
namespace AdditionProgram

class Addition

{

static  void Main( string [Jargs)

string  firstNumber, /I first string entered by user
secondNumber; /I second string entered by user

int  numberi, /I first number to add
number2, /I second number to add
sum; /I sum of numberl and number2

/I prompt for and read first number from user as st ring
Console.Write( "Please enter the first int eger:");
firstNumber = Console.ReadLine();

/I read second number from user as string
Console.Write( "\nPlease enter the second integer: ");
secondNumber = Console.ReadLine();

/I convert numbers from type string to type int
numberl = Int32.Parse( firstNumber );
number2 = Int32.Parse( secondNumber );

/I add numbers
sum = numberl + number2;

/I display results
Console.WriteLine( "\nThe sum is {0}.", su m);

} /I end method Main
} /I end class Addition

} /I end namespace AdditionProgram
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using System;
namespace ComparisonApplication

class Comparison

{

}
}

} // end namespace ComparisonApplication

static  void Main( string [Jargs)

int numberl, /I first number to add
number2; /I second number to add

/' read in first number from user as a string

Console.Write( "Please enter first integer M)
numberl = Int32.Parse( Console.ReadLine() );

/I read in second number from user as a string
Console.Write( "\nPlease enter second inte ger:");
number2 = Int32.Parse( Console.ReadLine() );

if (numberl == number2)
Console.WriteLine( numberl +" =="+n umber2);

if (numberl != number2)
Console.WriteLine( numberl + " !="+n umber2 );

if (numberl < number2)
Console.WriteLine( numberl +" <" + nu mber2);

if (numberl > number2)
Console.WriteLine( numberl +">"+ n umber2 );

if (numberl <= number2)
Console.WriteLine( numberl +" <="+n umber2 );

if (numberl >= number2)
Console.WriteLine( numberl +" >="+n umber2 );

/I end method Main

/I end class Comparison

o!

lll

+

0!
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C#o6 .#!1&
$! " #
P
+ + C# YA $$6 7 &+ & $ 12)4 <+(
$11& " ()
=& -1 12)4# , <+
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>2 0 , +
> 7

"switch ... case
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33A

# )4 C & ] ANSI + :$ 16

>SQF% O0: %} S$F * & &+ #:( %

>, (&! P($5 &*+N,$ &+ H%)O( -

_@L

T

] n 1& *@"

... 5% $7 & $

"r*Z 0% CH&# I ()AS(T & $ %

& #1&
& 7 &+ &:<+K
R v
l&
)
#1& 3
7 & )&:B, % :D1 O 3+ 0+ MW+-: : %&@ %7 & &:H*N7 & &: :
"Q? 6 0O(+ (? O(: % 6 + (7 ;0
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inta, b=12;
{intx,y=8#F === == - - -
{(iNtz=12;= = = = = = = -
X=2Z:
a=x+1;
{intu=1;= == === -+ F
y=u-b;
} __________ — i
| e ———— - L
} ____________ —
* B )4 041+ ) &: )A04S+ -* : 04+ 04-* ) &: -* @ <+K
& -0 % &:H*) -:)4A04S+ D (: &:)4
$
3 1 (
/IBlockO
int a, b=12;
/IBlock1
{
int x,y=8;
}
/I Block2
{
int z=12;
a=b+z
X =z : llerror
a=x+1:/lerror
}
/IBlock3
{
int u=1;
a=b-u;
y=u-b;/lerror
}
7D * $)4& H% D *)4A 00 ') -:) y x - <+H% (9,6 0O
".: 812)4b a
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B &
3!
#:(R* xpx2 ($5
X=y
"k <+H )2 X D % * 812)4#
+ - & ( 7 + $5 $
$
int a,b=56,c,d;
a=(b=12)+8; /I New value of b
a=b=c=d=8; /I Multiple Assignment
Fbl; + - 0 $ ( F bl:4 (? * )4 % O+ ( % Fb1l; 6 * )4
v (P& ?27? *)4 8)2
=($57 & 90( + R? 7D* Y47D* F
int a,b=56,c,d; a=?7??, b¥56, c=??7?, d=??7
a=(b=12)+8; a=20, b=8
a=b=c=d=8; a=8, b=8, c=8, d=8
$'& 4 B
-5 L&} 7T &+ *op:
= $7&+ &+ ($ $( % :
X 0p=Yy,
53 % G4 -
X=X0pY,
$
int a,b=56;
a=-8;
a+=b; /la=a+b
b*=3; IIb=b*3
=($57 & 90( + R? 7D* )47D* F :
int a,b=56; a=??7?, b=56
a=-8; a=-8
a+=b; a=46
b*=3; b=168

Universal Knowledge Solutions s.a.l.

57




7 &+ &+ (% $ . v+ (3 & ( $ 7 + %5 3
“$ (S j4: - ( % %

/12 &

@ o EXPEsSion o instruction

=& *, H6 : R*

if ( Expression ) Instructions Bloc ;

%

if ( Expression ) Instructions Blo@|selnstructions Bloc ;

int a=100, b=0, c;
if (b==0)
{
c=1;
System.Console.WriteLine("First Condition: c =" + c);
}
else
{
c=alb;
System.Console.WriteLine("First Condition: ¢ =" + c);
}
if ((c=a*b)!=0)
c+=Db;
else
c=a;
System.Console.WriteLine("Second Condition: ¢ =" + c);
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M C:\MyProject\MyFirstApplication\bin\Debug\MyFirstApplication.exe

First Condition:
Second Condition:

c

I/ 2 & G X
3 -? )4-* 2 :3 - + 0 % :
if (x>0)
if (y+z>10)
X=X+5;
else
X=X-5;
"if  + else + *)43 o * 812)4
& : + $ *)4 "U1lQ: QF67*1DGH#F6 if + + else -
if (x>0)
if (y+z>10)
X=X+5 ;
else
X=X-5;
+ *0 3 QF6-K *JW4"0 043 %O $-* )YAQFt: O+,
I + else
if (x>0) if (x>0)
{ {
if (y+z>10) if (y+z>10)
X=X+5; X=X+5 ;
else }
X=X-5; else
} X=X-5
"if + else + *)43 0 R* "3 -, + 0 % :
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"U1Q: Q F6 7 * 1 D #F6 if

+ + else -

"0 043 ¢* %0 $-*)4QFt : O+,
/2 & E
- 0 , (% ($ & 11( , + <0 (7 D* 3+ )4 :
=)
EXHESSIon o Valuel O Value2 |—
expressiond * |, W?* -*)4
ValuelA H
"Value2A H D
= &+ $ &+ j4:
if (expressiopValuelelseValue2 |
$
= , + O (
int a,b,c;
c: a==07?b: at+l;
&
0 H ) )2 (a+1) (? JAD (c) 2(% (b) 6 A H (@==0) + 7 *-*)4
") 2%
, (% $ & 1!1( , + <0 (7D* 3+ )4 :
for @o @hile$ # 3
3 H - while &* +

while o exprression o tnstruction
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n wY ( F + H1 expression D%H
3nstructionl !( H Y 7(: 1J4
“instruction2!( L H D
expression, H instruction7 &+ & 1!( - + -
Y 7 o F % &
>@ % instruction : )4 $(Y 7(: 134

“instruction : <F H D
=7
int i=0;
int  x=0;
while (i<=10)
X=x+10;
i++;
}
3 H - do & : + "
(do) (O )
instruction7 &+ 1!/( D%H
expression 2+ H
“instruction1 !( )4 $(O** : 1J4
"F H D
expression, H instruction7 &+ & 1!( -1 + -
Y 7 . F % &
>@ % instruction : )4 $(Y 7(: 134
“instruction : <F H D
=7
int  j=0;
int y=0;
do
{
y=y+10;
jt+;
} while (j<=10);
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3 H - for & + "

-(for{ () Goh (;
o 1”’2%

())-asrizzon) -
-

int  z=0;

for (k=0; k<=10; k++)
z=z+10;

[ SS1OM
>F O expression 5 1(D%H

F O expression, + )4 , 2+ H

“instruction1 !( )4 % (O** , 1134

"<F H D

+ )4 7 &+ 1Y H instruction7 &+ & 1!( -1 + -

+ )4 , F O expression
= 7 ( OF % & F O expression

>@ % instruction : )4 $( Y 7(: 134

“instruction <F H D
=7
=?
3 /( )4 4: R? 7 +
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int x=0;

int y=0;

int z=0;

int i=0;

while (i<=10)

{
X=x+10;
i++;

Console.WriteLine("x =" + x);

i=0;
do
{
y=y+10;
i++;
} while (i<=10);
Console.WriteLine("y =" +y);

for (i=0; i<=10; i++)
z=z+10;
Console.WriteLine("z =" + 2);

= *YA\: U2 :D *)4

int x=0;

int y=0;

int z=0;

int i=11;

while (i<=10)
X=x+10;
i++;

}

Console.WriteLine("x =" + x);

i=11;

do

{
y=y+10;
i++;

} while (i<=10);
Console.WriteLine("y =" + y);

for (i=11; i<=10; i++)
z=z+10;
Console.WriteLine("z =" + 2);
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switch ... case$: 3

3 H - switch ... case +

(switch |~ ({ expression]~( ) - { }~{ bloc swrtch ]+ }
irt.srmcﬁort

case (2 Hinstruction

& 1+ % (

Hloc switch - ( expression & <z+ +

bloc- ( 0& (4+) expression + W ,( o
>& * & expression/ + B switch

>& instruction7 &+ 1Y(H W ,R*( o

expression W, 7D * -* )4 o]
7 + 7 &+ 1(H - )4 expression7
>2 0'-$&$ #$* , & expression
4 # ,4 6 , + &1\ % (% 1 o
P& expression - , 7 &+ 0O break &+
H & expression7 + B W, H% -*Y4 o
"default + instruction7 &+ 1(
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int  x=10;
switch  (x+1)
{
case 11 : Console.WriteLine(">> case 11");
break ;

case 12 : Console.WriteLine(">> case 12");
break ;

default : Console.WriteLine(">> default");
break ;

"(case 11H% 6 * B (x+t1) + W, )2 (

0!
-F O I ( 0&H ** F% + ) $* $ #$)4 8

using System;
namespace Average

class Averagel

{

static  void Main( string [Jargs)

int total, /I sum of grades
gradeCounter, /I number of grades entered
gradeValue, /I grade value
average; /I average of all grades

/I initialization phase
total = 0; /I clear total
gradeCounter = 1; /I prepare to loop

/I processing phase
while ( gradeCounter <=10) /l'loop 10 times

/I prompt for input and read grade from user
Console.Write( "Enter integer grade: " );
/I read input and convert to integer
gradeValue = Int32.Parse( Console.ReadL ine() );
/I add gradeValue to total
total = total + gradeValue;
/I 'add 1 to gradeCounter
gradeCounter = gradeCounter + 1;

/[ termination phase
average = total / 10; I integer division
/I display average of exam grades
Console.WriteLine( "\nClass average is {0} ", average );

} /I end Main

}  /l'end class Averagel

C# & Averagel< #:
"al[$
$
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I (

0& H

0]

F6
-1 & $ - (

using System;
namespace Average

class Average2

{

static void Main(

int total,
gradeCounter,

gradeValue;
double average;

total = 0;
gradeCounter = 0;

} /I end while

average = (

}

else

}

} /I end method Main
}  /l'end class Average2

/I initialization phase

/I processing phase

/I prompt for input and convert to integer
Console.Write( "Enter Integer Grade, -1 to
gradeValue = Int32.Parse( Console.ReadLine

/l'loop until a -1 is entered by user
while (gradeValue !=-1)

/I add gradeValue to total
total = total + gradeValue;

/I 'add 1 to gradeCounter
gradeCounter = gradeCounter + 1;

/I prompt for input and read grade from user
/I convert grade from string to integer
Console.Write( "Enter Integer Grade, -1
gradeValue = Int32.Parse( Console.ReadL

/I termination phase
if (gradeCounter!=0)

/I display average of exam grades
Console.WriteLine( "\nClass average is

Console.WriteLine( "No grades were ente

string [largs)
/I sum of grades
/I number of grades entered

/I grade value
/I average of all grades

/I clear total
/I prepare to loop

Quit: ");
0)

to Quit: ");
ine() );

double ) total / gradeCounter;

{0}", average );

red.");

R*
)+ R*

OF OF
os$ #,

0]

#., F%3+$ C# & Analysis< #: #.
-*)4 F- Of(#, :-*)
"G (& S %

+)$ 8 #$*)4 S

6 #8& <F R* a[s$
, U %3!
F-J#,--% $

*( 0( )47 (

C# & AverageZ< #:

-F
K
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using System;
namespace Passes_and_Failures
class Analysis

static void Main( string []args)

{
int passes =0, /I number of passes
failures = 0, /I number of failures
student =1, /I student counter
result; /I one exam result
/I process 10 students; counter-controlled loop
while (student <=10)
Console.WriteLine( "Enter result (1=pas s, 2=fail)" );
result = Int32.Parse( Console.ReadLine( ));

if (result==1)
passes = passes + 1;

else
failures = failures + 1;

student = student + 1;

}

/I termination phase
Console.WriteLine();
Console.WriteLine( "Passed: " + passes );
Console.WriteLine( "Failed: " + failures )

Console.WriteLine( "Raise Percentage\n" + passes * 10 );
} /I end of method Main

}  /l'end of class Analysis
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" 7& &U™ %) /( #S
using System;
namespace Increment
class Increment
[STAThread]
static void Main( string [] args)
{
int c;
c=5;
Console.WriteLine( ¢ ); /I print 5
Console.WriteLine( c++); /I print 5 then postincrement
Console.WriteLine( ¢ ); /I print 6
Console.WriteLine(); /I skip a line
c=5;
Console.WriteLine( ¢ ); /l print 5
Console.WriteLine( ++c ); /I preincrement then print 6
Console.WriteLine( ¢ ); /I print 6s
} /I end of method Main
} /I end of class Increment
}
0]
" * 6 A #%* C# &I ( #:

K

using System;
using System.Windows.Forms;

namespace MySum

class Sum
{
static  void Main( string [Jargs)
{
int sum =0;
for ( int number = 2; number <= 100; number +=2)
sum += number;

MessageBox.Show( "The sum is " + sum,
"Sum Even Integers from 2 to 100",
MessageBoxButtons.OK,
MessageBoxIcon.Information );

} /I end of method Main

}  /l'end of class Sum
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using System;
namespace Evaluation
{
class Eval
static  void Main( string []args)
{
char grade; /I one grade
int aCount=0, /I number of As
bCount =0, /I number of Bs
cCount =0, /I number of Cs
dCount =0, /I number of Ds
fCount = 0; /I number of Fs
for ( int i=1;i<=10;i++)
Console.Write( "Enter a letter grade: " );
grade = Char.Parse( Console.ReadLine() );
switch (grade)
{
case ‘A" /I grade is uppercase A
case ‘a" /I or lowercase a
++aCount;
break ;
case 'B" /I grade is uppercase B
case 'b" /I or lowercase b
++bCount;
break ;
case 'C: /I grade is uppercase C
case 'c /I or lowercase ¢
++cCount;
break ;
case 'D" /I grade is uppercase D
case 'd": /I or lowercase d
++dCount;
break ;
case 'F": /I grade is uppercase F
case 'f" /I or lowercase f
++fCount;
break ;
default : /I processes all other characters
Console.WriteLine(
"Incorrect letter grade entere d."+
"\nEnter a new grade" );
i~
break ;
} /I end switch
} /I end for
Console.WriteLine(
"\nTotals for each letter grade are:\nA {0}" +
"\nB: {1\nC: {2)\nD: {3}\nF: {4}", aCo unt, bCount,
cCount, dCount, fCount );
} /I end method Main
}  /lendclass Eval
} /I end namespace Evaluation
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using System;
namespace LogicalOperators

class LogicalOperators

[STAThread]

static  void Main( string [] args)

/I testing the conditional AND operator (&&)
Console.WriteLine( "Conditional AND (&&)" +

"\nfalse && false: " + (
"\nfalse && true: " + (
"\ntrue && false: "+ (
"\ntrue && true: "+ (

/I testing the conditional OR operator (|[)

Console.WriteLine( "\n\nConditional OR (|
"\nfalse || false: " + (
"\nfalse || true: " + (
"\ntrue || false: " + (
"\ntrue || true: "+ (

/I testing the logical AND operator (&)

Console.WriteLine( "\n\nLogical AND (&)"
"\nfalse & false: " + (
"\nfalse & true: " + (
"\ntrue & false: " + (
"\ntrue & true: "+ (

/I testing the logical OR operator ([)

Console.WriteLine( "\n\nLogical OR (])" +
"\nfalse | false: " + (
"\nfalse | true: " + (
"\ntrue | false: " + (
"\ntrue | true: "+ (

/I testing the logical exclusive OR o

Console.WriteLine( "\n\nLogical exclusive
"\nfalse ~ false: " + (
"\nfalse " true: " + (
"\ntrue " false: " + (
"\ntrue " true: "+ (

/I testing the logical NOT operator (1)
Console.WriteLine( "\n\nLogical NOT (!)" +

"\nlfalse: " + (! false
"\nltrue: "+ (!

true ));

false && false )+
false && true )+
true && false )+
true && true ));

| "+
false || false )+
false || true )+
true || false )+
true || true ));
+
false & false )+
false & true )+
true & false )+
true & true ));
false | false )+
false | true )+
true | false )+
true | true ));
perator (%)

OR (M) +
false ~ false )+
false ~ true )+
true N false )+
true N true ));

)+

(,%)

I (

1)(
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m C:\Data\Data\Formations\Cshrp C

Conditional AND C&é&>
: False

: False

False

true && true: True

Conditional OR (11
i false: False
true: True
false: True
true: True

False
False
False
True

Falze

True
true True
true True

Logical exclusive OR ()
falze ™ false: False
false ™ true: True

“ false: True

“ true: False

Logical HOT <t
tfalse: True
: False
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3% 21 & (1 ( ,& O $ IEX!O

7+ &3 “H*R*3 % & + & & )2 %

IE X
"o+ & W
3 6B -! $I( -+ (: 7! B 0 | ) * o+ ;3 - - $6
Il@6
$
] 3 o]
"(+ . C )? $D -6 $D ) D F =1 o
3 -1k R*3 0! $ & 812 + & & , (+K
"@ 63 6B-! $I(-+ (: 71 B 0 | ) * +
"3 <1* % <fl* O %8 D ( *3& [$R* ] 0 ° - 3 <+
R* 7! & 1& W, 3 1& CH( 7! - 3 - *H

7! 810 & F $(-:U&

; IE X #1 )
371 2% * *)40( 213 % (* o+ <
"E 3 0. ( ? )2 (identity) 2 * 3 6 3 -
(* + <: 1 21 Y G , +F * $*3 % B :*9 : F
371 2% * *40(- 3 %
4 0 7 -$ #$R* 69&x * )4): & 0 (@4 -7 - $ &+4
"x$: X * )AY $ * 36 &,$ 1 X & *)AY (1 )4 OFU(2 D (
#H&: 4 %#&: $( $( 6-F: D - (behavior)] U &$ D04)& : 0 @A% D
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"U &$ *3t Y (
OF ((4): & :134 E 3 0, ( ? )2 (identity) 2 * 3 6 3 -
- 0 0%!(] FO6 $ 04 o: $ (¢ - (G 0$Y(
") 4 0(0% $% %)( (?U@2®6 &) , % o: O? $% 2.. $I( *
G6
"3 2 ) ()49 -4 ( + 3 % ) (<
> )(H1L < -. -,%: )4 3 I+
"3 6B 0(63 ) (H1 < 3 7 &+ H
(! -? 2H 0 (14 $1(9) & &? % 4 M) x -? 23
32 ) ()49 -4 (+ 3 % ) <
12 + 3 21( % : ) (Operations)y & +& 09 H* D3 % 2 ( %O
< @9 &T &+ H U1l "O$(-?-)42:1 -?6 -1)4 , 1 &+
G6 #"
"F % * F! 1; %:
"@ %3 % %3 3 7! K % :
*)4 * 812 % @ (+ ™ 4 1 21;) )2 =3 *
"$I(3 2
"F % * F1; %: @ %3 % %3 3 7! aK%
P$ N3 10 ! H,N3 ( O?4 , -% 3 2 T$
ul 3 % F&H*3 2 & P$ NI H* 2(
G6 F=/
ug % : $ ,-- 3 7! & (+ & 1( T$ )2 =,
7.+
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"Wo,-. W* %# 3 & 211( ;) 7 &+ -

"@ 6 3 6 PV, 7! NB& & (9! (:)2 =&%:
& 211( : ) 7 &+ =W* R* 3 71 & (+ & 1 S 2 =,
"0 - 3 71 )*) )2 .4 "W,-. 3
21( & 7.+ , $H*3 $-$ - +3 (+ ,1 I( #&, H
"2 -*)4 | C 1)+ 3 R*
11 #&, -$ W, O( # ( E3 & (&- % : D3 H % % Y
'@ 63 6 PV , 7! N3 & & ( 9! (: H% &$: O! 12 "(+ W ,
o!
) W, & WF *( & 7F +) 71 & H* 7F -2 O GF ¢

"0& + % 09 Y$ 7! 812B - +

Class Time:

Class Attributes:
o Hours;
0 Minutes;
0 Seconds;

Class Methods:
o Set Time(H, M, S);
o Get _Time();

"I B-+& W | GF R 1 N -?2 O GF c

Class Person:
Class Attributes:
o First Name;
0 Second_Name;
o National_ID;
o Address;
o Date_Of_Birth;
Class Methods:
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Set_FullName(FN, SN);
Get_FullName();
Set_NationallD();
Get_NationallD( );
Set_Address(A);
Get_Address();
Set_Date_Of_Birth(DOB)
Get_Date_Of Birth();

O O0OO0OO0OO0OO0OO0O0o

"BV ,N U&$ Fr! NO (B O 3 6 2<
"3 69 GB#HF ULl#+& 2 0$(7 &+ 0$(7! 03 6 < 2<
4+ W, ) $ %B,$ 4 2 $(-U& R* R $ M < 3 -
"<
3% 21(#& O %: D W, @ %3 % 0&: W ,< W, (U(@
Il@%
0 (B O 3 6 2< 4<1)40 7, +U& ) 36 B
Ul #+& 2 0$!(7 &+ O0$(7! 03 6 < 2< 4 "BV N U& P! N
369 GB#F
H%B,$ :< <+ 4+ , (6B W4 )y 7' F & # 108 (H 3 S H
"1)4 4+ 7T &+ ) $ %3
"< U1)43 tW , W*-1 7 + (< &< H*
)(HL < <+ 0% : 4 2 ug& $(-- K $ N < 3 -
o D ( ,4 + W , 1(#& %@%3 6: R* W, W ,6 < W , (U (2
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UpperLeftCorneXPoint, (

CLASSPoint {
/Ivariables
ATTRIBUTE Real X;
ATTRIBUTE Real Y;
/Imethods
Float Distance (IN Point aPoint);
/lcomputes the distance between two points
Float Equals (IN Point aPoint);
//determines if two points have the same coordsate

}
& H * H1 Rectangle< 9 ( )4 Point< $ (S
"MHeight Length Area\w , 4 5 R.owerRightCorner
CLASSRectangle {

IIvariables

ATTRIBUTE Point UpperLeftCorner;

ATTRIBUTE Point LowerRightCorner;
/Imethods

Float Area ();

/lcomputes the area of the rectangle

Float Length ();

/lcompute the length

Float Height ();

/lcompute the height

}
" #AJ3
"*H%< - R* 2 ()A<!
"( <l& % < ( 2 =& 6 <
"&6 <& 6 <( 7: &H* = <!
? = ()2 0)4( &6<!&U&S 7, + (? & 0)43 F)2 =7
"2 %

Universal Knowledge Solutions s.a.l.
78




: Motor -
Music Instrument Vehicle Bicycle
Piano Guitar Violin Motorcycle
o ? + 2
" H%< - T R* 2 ()A<! X
"( <& %<( 2 =&6 <
"&6 <& 6 <( 7: & H*4 = <! O
<1)2 6 <! J4) P 4 ( N<!I& &% < 2 P $ %N< =?
" 6 <
"0& 1 < ? 0 )4<! B
=? (U (2
3 (+ 1N #& '( - ( P&% < N4 * #%<& : ( )2 = *p ? C
&6 <! )Y4R* 2 -*)4 ? 3 )(HL < )4 |, 812 OO% R* +
"0 )4
"FOH% ?2.%<& 0 ( )2 =+ ? C
12 R* ColorPoint2 < 9( ? o'W, ($ Point< -? 12)4 +(
"Brighten Color ! 0 4 Point< W , 7! QY
Point
X
Y
Distanct
Equal:
ColorPoin
Color
Brighter

"ColorPoint< < +
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CLASS ColorPoint EXTENDS Point{
/Ivariables

ATTRIBUTE INTEGER Color;

ATTRIBUTE Point LowerRightCorner;
/Imethods

Integer Brighten ();

/lcomputes a new color that is brighter

F=/ '1& 3
"( <l )40+ J #6 < )4 4+ <+ +H %: =, <+
< )4 BBonuN , <+ (% (W™*( B:(: . N¢( <! K N¢t%< ( =7
(FU1l 7V4: #$*)4 * 0 ' B 4 )(: < )A0+ J ( )
"] o< )aot+ J
Instance variable: Employee
SALARY
Method:
Bonus= SALARY * 0.05
Instance variabl Pilot Mechanic
ACCUMFLIGHTPAY
Method:
Bonu¢= ACCUMFLIGHTPAY * 0.0t
ne 4 12 ( < #6 < )4 4+ <+ +( % a
YABonuN , <+ (% (™( B:(: , N( <! K' N#%< ( <+ -?)4
(FU1l 7V4: #%$*)4 * 0 ' B 4 Y(: < a0+ J ( ,<
"1 < )a0+ J
2 1 &
" t+ HEPFU&S 3 -:6 4+
)(: < RmonthPajN , Q!(#&,-. HO # #$*J4W $ -? QN + =7
ek ( $<- 1& , O $ $: , <
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3 -

Uil: }(? < 3
2:%L ()4 T $K

Instance variable: SALAR

Employee

« Super Class

Method:monthPay= SALARY /12
Sub Class
Pilot Mechanic
Instance variable: flyPay overtimePay
Method: monthPay monthPay
A A
r B s B
SupermonthPay+ flyPay  SupermonthPay+ overtimePay
0 #AJ&
$% $F-: * $F Q% - -7 "3 3 F. =B:AN* * F.
1 1
Manager Department
"W(? < 3 MZ , -6 < 3 - =B:MN ?: * F.
"M F. N 2% H* ( * & <
1.M 1 :
Customer Service
MZ -6 < 3 -, =RI:NN ?: 7?2 F.
% - % L*/(--? "-6< 3 NZ )(? <
II/(
1.M 1..N :
Product Material
= 7F.+
" $% $F-: * $F Q% --7 3 3 F =BR:AN*  * F,
-7? W(? < 3 MZ , -6< 3 - =B:MN ?: * F.
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Y S

< <\ CH &#:-:1( :J % $ S$F6) 47 ) &?63+)4 (*D  # (C
"C 2@ % &#:)$ /( H+& % * )
$ O,* < &: ) $ < $0& “class” *! & O < 12-? %
e -
R& + N ,& @* 1)$ /( #+& - F - < -* %< 10
"& (- & GF & -+ “main”
"LI(& 2 "xxx.exe"<& 1 <( <& & “XXX.CS" <& )4< *H % +
$)
using System;
namespace Example
/Il <summary>
i
/Il </lsummary>
class Examplel
{ static  void Main( string []args)
/I You can add your program Here
}
}

using System;
namespace Example

{
/Il <summary>
mn
/Il </lsummary>
class Example2
{
static  void Main( string []args)
{
Console.WriteLine("Good Morning !");
}
}
}
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Y#!= - #!1F=1/
- H; %<& :DW , 4 " -, *) 7 &t <& K 7 w ., -?
" 7D* -? (9 *D
CH( (3 + Z'/ Z< <+ (0) Y z AN, ( C#
", ( R* N3 < ,
@ %7! % x!/ x& * 71)d $ ( ( "+ -0%$ < W, & 812)4):«($
w, 7 ? < 12W R*O* O'DU&D( , 6U1Z !/ x0)+( (34 O
+ *)4
O"é& !'/03T!:
$ <+ 2+ H , -+ 7. + & H* Q% < + .Y L *
, $ Y =" ,9 $ (21(H $) 7 & H *H1
3 H - #$
- Qualifier - Type of Result = Function Name j
List of Function
—»@—‘ Parameters Body —
R WA
Instructions
3 H - W4 Y H O

| <Qualifier><Type of Result><Function Name> (<FormalList of Parameters>) |

G 12 D

3&
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)2 <Qualifier> + &: static *! & )N:($ *
"4 4+ < )4<& + )2, % &:
"Y 9 12-2
Y4Nvoid % C# 04+ ) ,$ , (6 *% ) ( ( .
D 04+ ) L6 % R / (U@R: -*
"Y 9 12-2
810 oY /D* <+ 7.+ Y
"4 % *
"O FD , O+ O 4 % $
$
using System;
class Application
/I Methods without parameters
int computel( ){
/...
}
bool testl(){
/...
}
void recomputel(
/...
}
/I Methods with parameters
int compute2( byte a, byte b, int x){
/...
}
bool test2( int K){
/...
}
void recompute2( int x, int y, int z){
/...
}
static void Main( string []args){
...
}
}
$ <+ 2+ H , -+ 7. + & H* Q% < + .Y L *
, 3 ) Y - ", 9 $ (22/(H $) 7 & H* H1 ,
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*$

*7D*

"S6 -+

-%

/(-

X #+&

# & !

+ +
"9 7D* 7 5<+ ( T$ 7. + -?
fx)=x+5-? ) B <+ & &+ 812
f(2)=7
f(7)=12
$! )4 $9 7D* 7 5<+ (TS$ 7 + -7
"7.+ 812 P21Y( 59 $ ( NO $
5 (2 f#+& R*f(X)=x+5-? ) B <+ & &+ 812
& -*4 f1(H x-* 2 * (+4B 11 ( * 7D*
#J & |
+ /0] +
decimal | 128 bits
double |64 bits
float |22 bits

Universal Knowledge Solutions s.a.l.
87




long |64bits

ulong | a4 bits

}_.

1

int |32 bits

uint

32 bits

1

-

short |16 bits

ushort |16 bits

4

sbyte [svits byte |sbits

}_.

AN

char |16 bits

$
using System;
class Application
static  void Main( string []args)
{
int []table={12,-5,7,8,-6,6,4,78,2};
shyte elt = 4;
short i;
for (i=0;i<8;i++)
if (elt==table[i]) break ;
afficher(i,elt);
static  void afficher ( int ord, long val)
if (ord==8)
Console.WriteLine("Value : " + val + "Not Found." );
I
Cgr?:ole.WriteLine("VaIue :"+val +" Order :" + ord);
}
}
% 6 * # ,( 1-* 1 % * - % - )42 $ , (6 -$&% O+
"% *1+Q( .( )(OF#S
,( F- % :D: shyte, ( RD* ($( M FH * %short,( -* : -? -$ &+4
"char
B O $2((( Q? shot,( Q+U& P, N <+ -*)47 + & .. 12 W ,(

-+ - :  shyte,( )+ ,-*
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#J &

+ 1 +
,6717.+ 4:-% O* 7D* F #&%% : 0 $ ( 0.+ W
"P: O, (W3 %-: & ) 7.+ 45
PEF $ M= $(9( / ( Sx % -+ U& %
"&6 -* & $( & - + H% 2\ DR*
" & O W, 7.
using System;
class Application
static void Main( string []args)
{ int []table={12,-5,7,8,-6,6,4,78,2};
int res=0;
short i;
for (i=0;i<8;i++)
res=Compute(i,res, table[i]);
Console.WriteLine("Result : " + res);
}
static int Compute ( short s, int r, int val)
{ int k=r+s*val;
return k;
}
}
,6717.+ 4:-% O* 7D* F #&%% : 0 $ ( 0.+ W
"P: O, (BB %-: & :) 7.+ 45
PF $ N* $(9( /( S* L% -+ U&
"&6 -* & $( & - + H% 2\ DR*
" &0 W, 7.

, 9
5

+

%
5

+

.5 (
C#)d | $
$ (

2
0 &
$

.5 (
C#)4 ,$
9 $ (

2
0 &
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# & |

+0 & ! +
"C#)AT.+ , (% 4:-% O* TD* ( #&%% : 0 $ 0.+ W , .5 (
$ ( -* $(/( (D - * % ¢ (+ -+ U& ¢ % ,9 $ (
&6 -* & $( & - + H% A\ R* $I(- *
3 - (+ & (+ -+ <+ & 1;
static int mymethod (int a , ref char b)
{
I.......
return a+b;
}
intx=10,y="%", z=30;
z = mymethod(x, refy) ;
"xloref & (+ -* W$ R*
A
3 H - 1) return *! & & O uil * ,( F + %, H6:
+ return
CXPHESSTON

Universal Knowledge Solutions s.a.l.
90




3& returnW* %# O D
, 5 (<I+ A 5,(QY + + %#
> 0! +
7 &+ 11 <F , 7 &+ 11(9 (?féturn -  (
Xeturn +
if else & : N* /( H1I( $ 2% (
P%7D* E1!( $ elsex (+7D*1l( $ if-1 R*
" .2 '( "H1!( $ -1 0()4 return &+ B #
$
Xx=5-% x=4-% f(xX)=3x-7B ) [ ( #$*
using System;
class Application
{
static void Main( string []args)
{ 1.
int x,y;
X=4;
y=1(5);
y=1(x);
Console.WriteLine("f(x)="+ f(x) );
Console.WriteLine("f(5)=" + f(5) );
}
static int f( int x)
{
return  3*x-7;
}
}
$
"I H$D :1-* F 4 J increment ,
using System;
class Application
static void Main( string []args)
{
int a=0 ;
a=Increment (a);
a=Increment (a+4);
}
static int Increment( int Xx)
if (x==0)
Console.WriteLine("The Case of 0 ...");
return = x;
}
else
{
Console.WriteLine("The other cases");
return  x++;
}
}
}
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#- '1&
"041+@ ) &: %B, P$ -RA) -* :; $%6 )
& C# )47 &+ -: %B, )+
>< |
SW
"Bor &+ %do &+ %while &+ %ifelse &+N : $$6 7 &+
"B &)&*-* % & -+ <+ @ W$1 , -*<+ :D
B, H6)4 $5 Q!( -* <+ @ W$ 1 Rlo %for % while % ifNB, -* <+ :D
"1 B, H*
F=1/ # @" :3
$. & 812- % : "< W ,B -F $. & F< (+: 41+ 7D*
"O*D7 & 810 3+($* < + private %public,( *!7 & $ -.
$
YBx-a + #$ T $ g , )4 "f ,) g ,)4) 2< (*%2 a-* %" (
"3x-a + #%* T[$ HL a-+ 8! H 4 f , )4
"B f) *)4 ( "D/ ( #S N
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using System;

class Visiblityl
{
static int a=10;
static void Main( string []args)
{
int result_g, result_f;
int x=10;
result_g=g(x);
result_f=f(x,5);
Console.WriteLine("g(10)="+ result_g);
Console.WriteLine("f(10,5)="+result_f);
}
static int g( int x)
{
return  3*x-a;
}
static int f( int x, int a)
{
return  3*x-a;
}
}
\<+@ * T[$ :8: Q( < W ,)4 4+
* 0!

"Bl  #$* Square , <+ - U1l

$57J

D* < (B
$ 0!

67+ #$/( #:
:r_*
/\/\/\G ’$
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$0!

"B A, L9 $+ =)0 ) (&) 1( 1( (,%
using System;
class Scoping
{
static int x=1;
static  void Main( string []args)
{
Console.WriteLine("local x in method " + x);
MethodA();
Console.WriteLine("local x in 1st call of A: " + X);
MethodB();
Console.WriteLine("local x in 1st call of B: " + X);
MethodA();
Console.WriteLine("local x in 2nd call of A: " + X);
MethodB();
Console.WriteLine("local x in 2nd call of B: " + X);
}
static void MethodA()
{
int x=25;
++X;
}
static void MethodB()
{
X *=10;
}
}
n :F*
$ 0!
"XI=X*(X-1)*(X-2)* ... 3*2*1 -1 )& + B <+K
, 812 R* Factx) ,) $ ? ushort, ( X F- $  #&, | ( #: "
#$ $ = $S N'PF a$ - *F%- 7& :B -+ [/( $ Nx! #%*

Ror % do % while-? : 7 &+ @* Fact(x)
{1 HS$ Fact(x) F9,J/( % x-*& FH%-% "

5 *
8LI(#& | (
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using System;
class Factorial

{
static int x=1;
static void Main( string []args)
{
string  s;
ushort a=1000;
long f;
s=Console.ReadLine();
a=UInt16.Parse(s);
while (a !=0)
f=Fact(a);
Console.WriteLine("Factof "+a + " =" +f);
s=Console.ReadLine();
a=UInt16.Parse(s);
}
static long Fact( ushort a)
{
long res=a;
while (a>1)
a-
res=res*a;
}
return  res;
}
}
$0!
J& : Fibonacci <+K
n, ifn=0orn=1!
u(n)=
u(n- I u(n 2)
, 812 R* Fibonacciin) ,) $ ? ,( n F- $ #&, I ( #:
" $0 a$ - *F%- 7& :B-+ /( $ NUun F#$
o
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class Scoping
{
static int x=1;
static void Main( string []args)
{
string  s;
int n;
long f;
s=Console.ReadLine();
n=Int32.Parse(s);
while (n>=0)
f=Fibonacci(n);
Console.WriteLine("U("+n+")=" + f);
s=Console.ReadLine();
n=Int32.Parse(s);
}
static long Fibonacci( int number)
{
if (number==0 || number==1)
return number;
else
return  Fibonacci( number - 1) + Fibonacci( number - 2);
}
}
1 J $# I/& 1,
+'1& +
-+ ,)4 SystemP+ NO $6 9 4<! O! R * & &5 + NString7 ,+ ,( +
"DotNet
"< 10 + W , - D string, ( < * &$&$H% $ : D)
1 \J % I/& T,
+' 03 T!: +
& 04<* &$&$ Y H
string chl;

chl = "abcdefghijk";

string  ch2 = "abcdefghijk";
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' J & "

3 )& -? <* $&%

3 -2& 04 *- : &$&$ % KR*N[] &+ $ &$&$ < * *% -

string  chl = "abcdefghijk";

char car =chl[4]; /I contains the character 'e'
@) ( T[] \ $ &$&$ <* <*-+ :D R* ,49 & U& - &
=:(l b1l -2 -$&H4 "* T 1)423@ %7 % &

chi[7]=car; // ... Error
ch1[8]="x’; /I ... Error

' J /&
+Insert 2 $!'& +

= chl &$&$ (

chl = “abcdefahiik" :

chi

( ch28&3$8&$ & -*4 -1 )4 2' * & 0 & 1)((
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ch2 = chl.lnsert(4,".x..") ;

chi labcd..x..efghi jk|

ch2

&$&$ )40 + W , 8B2 #$D "2 "™ %/ %C$ % * W, string<  U&
&+ ( &$&$ ( o$Y(

' J & "
+2Z\Z! 3 $1& +

string  strl,str2,str3 ;

strl = "bon" ;
str2 = "jour" ;

str3 = strl+str2 ;

=& NB  (-%

str3
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J& : Length / & -*(

string  str4 = "abcdef";

int Len;
Len = strl.Length ; /l'length = 6
&%&$ )40 + W , 812B$SD "2 ™ %/ % C$( % * W , string< U&
" &+ (  &$&$ (0%
' J /&
+ IndexOf ' 0 =4 A 3 $1& +
+ ) IndexOf $ “abcde” &$&$ O? “cde” &$&$ BF & -* % :
& &$&$& 0'-%BF F Y*
string  str5 = "abcdef" , ssch="cde";
int ord;
ord = strl.IndexOf ( ssch);
&$&$ )40 + W , 812B#$SD "2 ™ %/ % C$ % * W, string<  U&
" &+ ( &$&$ ( 0s(
' J /&
+ ToCharArray ' ' ! $'1& +
* 812)4 $("0& - 7& W, (($ ) <*&- :1<* &$8$ $ # (% :

9& : 0 $( % : ) ToCharArray
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string  stré = "abcdef" ;
char []tCarac;

tCarac = str6. ToCharArray( ) ;

tCarac = "abcdefghijk".ToCharArray( );

= $ 7 &+ & 1B -*HL - ) - Y

string  str6 = "abcdef" ;

char []tCarac;
tCarac = str6.ToCharArray( ) ;

tCarac
0123 45
alblc|dl|e|f

tCarac="abcdefghijk". ToCharArray(); E_\
tCarac \ ZErzraarT

&$&$ )4 W, 812B #$D "2 "™ %/ % CH % * W , string<  U&
" &+ ( &$&$ ( 0osl(

' J $ /&
+ B $!'& +

$ %e==" $ &&S( & H%: : <* $$B "= $578& $ % :
‘new &+ $ 0 $ &$&S) (% &B$S@ * O (. W$ 45 "Equals’ |,

Universal Knowledge Solutions s.a.l.
100




& 4 *($ #$* ($5 &

string  s1,s2,s3,s4, ch;

ch = "abcdef";
sl =ch;
s2 = "abcdef";

s3= new string ("abcdef'.ToCharArray());
s4 = new string (s3.ToCharArray());

Console.WriteLine("s1="+s1);
Console.WriteLine("s2="+s2);
Console.WriteLine("s3="+s3);
Console.WriteLine("s4="+s4);
Console.WriteLine("ch="+ch);

if (s2==ch)Console.WriteLine("s2==ch");
else Console.WriteLine("s2<>ch");

if (s2==s3)Console.WriteLine("'s2==s3");
else Console.WriteLine("s2<>s3");

if ('s3 == s4 )Console.WriteLine("s3==s4");
else Console.WriteLine("s3<>s4");

if (s3 ==ch )Console.WriteLine("s3==ch");
else Console.WriteLine("s3<>ch");

if ( s3.Equals(ch) )Console.WriteLine("s3==ch");
else Console.WriteLine("s3<>ch");

if (s3.Equals(s4) )Console.WriteLine("s3==s4");
else Console.WriteLine("s4<>ch");

3& 40* s4 s3 *N@ * C$( & Bl ch

labcdef abcdef
ch s2
sl abcdef

=

s3

& & )2
*N($5 & W!
L/ ( 11()+
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M| D:\MyProject\MyFirstApp

=1 =ahcdef

&$&$ )40 + W , 812B #$D2 " %/ % CH % * W , string< U&
&+ 8%&$ (0%

#." /& t
+ & +

$ 'O &
int []tablel; /I Table of integre
char []table2; /I Table of char
float []table3; /I Table of float
string  [] tableStr; /I Table of string

$ ! &
int []tablel = new int [5];
char []table2 = new char [12];
float []table3 = new float [8];
string []tableStr = new String [9];
"$F A F *7( + B  %char %intN * ,( 3 9¢( new R*
$2 = LIA=/3 &

int []tablel ={17,-9,4,3,57};

char []table2 ={a'yj 'k','m','z'};

float []table3 ={-15.7f, 75, -22.03f, 3,57 };
string []tableStr = {"cat","dog","mouse","cow"};
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#." /& t
+8& & 7" & +
$0
int [,]tablel;
char [,]table2;
float [, ]table3;
string [, ] tableStr;
$0
int [,]tablel = new int [5, 2]; /I'5 Lines x 2 Columns
char [,]table2 = new char [9,4]; // 9 Lines x 4 Columns
float [,]table3 = new float [2,8]; /I 2 Lines x 8 Columns
string [, ] tableStr = new String [3,9]; /I 3 Lines x 9 Columns
$F F *7( + B %char%intN *  ( 3 9(
"O D, 4! 7(
$1& 3(&)
Hn+1][p+1] 4! 7( 4 (H1L ) -?& 040 0;0 2+% *
int n=10, p=8;
int [][]table = new int [n+1][];
for (int i=0;i<n+1; i++)
table[i] = new int [p+1];
= 41
0 1 2 3 n
AN BaNEaN r13
0 0
1 1
p p
#. $ &
+#." +

new
*1&

41 7¢

812-? -7

R*

H
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n ,HL - % 8 (5B & 7 &t 0O $ 74! -
"n-1 F (
int []tablel = new int [5];
/I Assignment Operations:
table1[0] = -458;
tablel1[4] = 5891;
tablel1[5] = 72; /I Error tablel1[5] does not exists
/I Loop:
for (int i=0;i<=tablel.Length-1; i++)
tablel[i] = 3*i-1;
/I Result: tablel = {-1,2,5,8,11}
char []table2 = new char [7];
/I Assignment Operations:
table2[0] ='?";
table2[4] ='a’;
table2[14] = '# ; /I Error tablel[5] does not exists
/ILoop
for (int i=0;i<=table2.Length-1; i++)
table2[i] =( char )('a'+i);
/l Result: table2 = {'a’, 'b', 'c','d', 'e', 'f'}
C#6 0 @L!'4 K =
+/( #:? D% S:4 N"AX?+Bx +c =0 -: (?
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using System;
namespace Equation
{
class Application2DEquation
static void Main ( string []arg)
{
double a, b, c, delta;
double x, x1, x2 ;
Console.Write("Entrer une valeur poura : ") ;
a = Double.Parse( System.Console.ReadLine() ) ;
Console.Write("Entrer une valeur pour b : ") ;
b = Double.Parse( System.Console.ReadLine() ) ;
Console.Write("Entrer une valeur pour ¢ : ") ;
¢ = Double.Parse( System.Console.ReadLine() ) ;
if (a==0)
if (b ==0)
if (c==0)
{ o _ _
Console.WriteLine("Each Real is a solution") ;
}
else
{ llc 0
Console.WriteLine("No Solution") ;
}
}
else
{ /I'b 0
x=-c/b;
Console.WriteLine("The Solution is : " + X) ;
}
}
else
{ [Ila 0
delta = b*b - 4*a*c ;
if (delta <0)
Console.WriteLine("No Solution in the set of re al numbers") ;
}
else
{ /I delta 0
x1 = (-b + Math.Sqrt(delta))/ (2*a) ;
x2 = (-b - Math.Sqrt(delta))/ (2*a) ;
Console.WriteLine("Two solutions equals to " + x1+"et"+x2);
}
}
}
}
}
$ Q
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using System;
namespace Armestrong
{
class ApplicationArmstrong
{
static void Main( string []args)
{
int i, j, k, n, sumcube;
Console.WriteLine("Number of Armstrong:");
for (i=1;i<=9; i++)
for (j=0;j<=9; j++)
for (k = 0; k<=9; k++)
{
n = 100* + 10%j + k;
sumcube = i*i*i + j}j*] + k*k*k;
if (sumcube ==n)
Console.WriteLine(n);
}
}
}
}
$ Q
R* n 1; C#&/(#: "* 04 $ FB B -*HS$ :1 perfect (% - (
P! & O+ +/( #:. ?2 D % SA4N' + 6 Perfect n-%
*
using System;
namespace Perfect
{
class ApplicationPerfect
static  void Main( string []args)
{
int compt =0, n, k, sumdiv, nbr;
Console.Write("Number of Perfect numbers you wis h find : ");
n = Int32.Parse( Console.ReadLine() ) ;
nbr = 2;
while (compt !=n)
{
sumdiv = 1;
k=2;
while (k <=nbr/2)
{
if (nbr % k == 0)
sumdiv += k;
k++;
}
if (sumdiv == nbr)
{
Console.WriteLine(nbr+" is a Perfect number");
compt++;
}
nbr++;
}
}
}
}
$ Q
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Algorithm Bubble_Sort;

local: i, j, n, temp: Natural Numbers;
Input-Output : Tab : Table of n Integers;

Begin
for i from n until 1 Do
for j from 2 until i Do
if Tab[ j-1]> Tab[ ] then
temp=Tab[j-1];
Tab[j-1]=Tab[]];
Tab[j] =temp;
End_if
End_for
End_for

End_Bubble Sort
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"Insertion

Algorithm Sort_by_Insertion;

local: i, j, n, v: Natural Numbers;
Input-Output : Tab : Table of n Integers;

Begin
for i from 2 until n do

% =Tab[i];

=i,
while (Tab[ j-1 ]> v)
Tab[j ] =Tab[]-1];
j=J1
End_While ;

Tab[j] =Vv;

End_for

End_Sort_by Insertion
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using System;

namespace Biblio

{ -
class Examplel
float x;
int vy;
float F1( int a, int b)
{
float f=0;
/l... Code of F1
return f;
}
void P2()
int x=5, y=6;
float f;
f=F1(x,y);
[/ code of P2
}
}
class Example2
L
One x;
Twoy;
Examplel E;
static  void Main(String [] arg)
/I Main Code
}
}
class One I
{
/...
}
class Two
{
/...
}
}
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Object
A 4
Animal
A 4
Dog Cat Canary
\ 4
Teckel Labradorn Canich
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class one {
int a;
}

=2< 10] 9K O: % C#
| public  one() {} |
=9 <+ < <+ (: 1

class one {
int a;
public one(){}
}
= & ) 4 ( 1$D : R*
class one {
int a;
public one() {
a=100;
}
}
.+ B9 <+ :
class one {
int a;
public one( int b){
a=b;
}
}
=0.+<. <& * <&9N ?2%< +
class one {
int a;
public one() {
}
public one( int b){
a=b;
}
public one( short b){
a=b;
}
}

(N3 9( (O & 21(H 0 )( ) <! 9$%-* W ,9K 2 ( ) W,
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public *! & + H 1 )+ < C$(9 () @6 <! 4:0
G X W2
?< 9( ,%$0& %& new * & $-. < 9K ,1 I( <
class Employee
L int register;
static int number;
public Employee()
{ register = ++number;
}
public  void showRegister()
{ Console.WriteLine("The employee register =" + reg ister);
}
}
I( #@3-\$ 12 & i "% < Employee< 3 9 ( !: -\$
public class Test
{ static void Main( string [] args)
{ Employee E=  new Employee();
}
}
290/ ( 12 (- %) Main H1 Test<
& 4Y 2 -2 $ *& 812 O (€
public  class test
{ static  void Main( string [] args)
{ Employee E=  new Employee();
E.showRegister();
}
}
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class Animal

{
bool alive;
int age;
void getold()

++age;

}
void die()

alive= false ;

}
void cry()
...

class Dog: Animal

{ /I ... Definition of Dogs inherited from Animal
}
class Canary: Animal
{ /I ... Definition of Canary inherited from Animal
}
- 12 J4P *O %7$ C#H/( <! 0% & :; B N(Animal) * ( (Dog)#& - ( (
- H&& 7! - TeckelA( #&: R 6 Ul: *& 7! =R #& % O
"r& 7" - *
+ %< B,$ : P F:HL + ; %Y : % : ) )* ! N * *_
7! Canary ,-: CanicheA ( #&: -1 %O /($( "PN, )2 getold() % die() % cry( )N- +4%
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namespace Exemple
{
public class ApplicationClasses
{
abstract class ApplicationClassel {
...

public class ApplicationClasse2 {
...

protected class ApplicationClasse3 {
...

private  class ApplicationClasse4 {
...

class ApplicationClasse5 {
I

class ApplicationTestClassesl {
ApplicationClasses.ApplicationClasse2 a2;

class ApplicationTestClasses2 {
ApplicationClasse2 a2;
ApplicationClasse5 a5;

class ApplicationTestClasses3 {
ApplicationClassel ai,;
ApplicationClasse2 a2;
ApplicationClasse?2 a3;
ApplicationClasse4 a4;
ApplicationClasse5 a5;

static void Main( string [] args)

{
}

...

Q O %<! &<+ - \ @ < + FW, 1 E< <<+H % C#)4 :
“4W , 7D* &
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using System;
namespace Animals
{ class Animal
g bool alive;
int age;
public Animal()
...
public Animal ( int a)
{ age = a;
alive = true ;
Console.WriteLine("A "+age+" years old Animal is created");
}public void getold()
{ ++age;
}public void die()
! alive= false ;
}public void cry()
{ ...
}
}
public  class test
{ static  void Main( string [] args)
{ Animal A= new Animal(3);
}
}
}
Animal W < (% )& R* Canary< % ( Animal <l <+ 9 (6
class Canary: Animal
{ ...
}
"+ +H(C  (%-*)AH (¢ -? o* 0O ,$:1:9( |, < L*
<+ 2 ( $ ( DW ! 4 2 (1 (W4 E *H% H(:
IIW,
U& $: W, -?67D* 0 ( Animal< )49 6-* - ? * Canary< U&
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class Canary : Animal

{ public Canary ( int a)

{ new Animal(3);

}public void cry ()

{ Console.WriteLine("Cui-Cui!");
. }

public  class test

{
static  void Main( string [] args)
{
Canary C= new Canary(2);
C.cry();
}
}

J& : test<

c2(

"ery()
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using System;
namespace Redefinition

{

class square

{
public
public

public
{

}

public
{

}
}

{ _
public

public
{

}

public
{

int length;

square() {}
int

square( len)

length=len;

int getSurface()

return  length*length;

class cube:square

cube( int len)

length=len;

int getSurface()

return  6*length*length;

static void Main()

cube c=  new cube(3);

square car= new square(3);
Console.WriteLine("Surface of square car(3): ",c
Console.WriteLine("Surface of cube c(3) :",c.get

ar.getSurface());
Surface());

'+ L* Line EQ #:
Main)$
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using System;
namespace Redefinition

{

class Point

{
public
public
public
{

}

class Line

{
Point P1;
Point P2;
public

public
{

public
{

double Px,Py;
Point() {
Point( double x, double vy)
Px=x;

Py=y;

Line( double x1, double yl1, double x2, double y2)

P1=
pP2=

new Point(x1,y1);
new Point(x2,y2);

double getLength()

double
return

lenX, lenY;
Math.Sqrt(((P1.Px-P2.Px)*(P1.Px-P2.Px))+((P1.Py-P2 Py)*(P1.Py-P2.Py)));

static  void Main()

double x1,x2,y1,y2;

string s;
Console.Write("First Point X1 : ");
x1= double .Parse(Console.ReadLine());
Console.Write("First Point Y1 : ");
yl= double .Parse(Console.ReadLine());
Console.Write("Second Point X2 : *);
x2= double .Parse(Console.ReadLine());
Console.Write("Second Point Y2 : );
y2= double .Parse(Console.ReadLine());
Line L= new Line(x1,y1,x2,y2);
Console.WriteLine("Length of L : " + L.getLength
Console.ReadLine();

0y
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using System;

$ 0O
$ O ( C# & #:
-F ! & 0 :

namespace Exercicel
{

class ApplicationEuclide
static  void Main( string []args)
{

Console.Write("First Number : *);
int p =Int32.Parse( Console.ReadLine() ) ;

Console.Write("Second Number : ");
int g = Int32.Parse( System.Console.ReadLine() ) ;

if (p*q!=0)

Console.WriteLine("mgcd of "+p+" and "+qg+" is "
else

Console.WriteLine("One of the numbers is null !

static int mged( int a, int b)
{ _
int rt;

if (b>a)

oo
TR

a;
t

do

r=a%hb;

a=b;
b=r;

}  while

(r 1=0);
return a

+mgcd(p,q));
)
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using System;
namespace Exercicel

{
class ApplicationEgyptien

static void Main ( string []args)

{
Console.Write("First Number : ");
int p =Int32.Parse( Console.ReadLine() ) ;
Console.Write("Second Number : ");
int q =Int32.Parse( Console.ReadLine() ) ;
if (p*q!=0)
System.Console.WriteLine("mgcd of "+p+" and "+q +" is "+mgcd(p,q));
else
Console.WriteLine("One of the numbers is null ! ");
}
static int mged( int p, int q)
{
while (p!=q)
it (p>q)p-=a;
else q-=p;
return  p;
}
}
}
$
0: -+ 11( $( GF xx 6 )% n-% 050 ( C# & #:
"C# &/ ( -F !
using System;
namespace Exercice2
{
class ApplicationPrem
static  void Main( string []args)
{
int divis, nbr, n, count=0;
bool is_prem;
Console.Write("How much numbers to Display ? );
n = Int32.Parse( Console.ReadLine() ) ;
Console.WriteLine( 2 );
nbr = 3;
while (count < n-1)
{
divis=2;
is_prem = true ;
do
{
if (nbr % divis == 0) is_prem= false ;
else divis = divis+1 ;
while  ((divis <= nbr/2) && (is_prem == true ));
if (is_prem)
{
count++;
Console.WriteLine( nbr);
}
nbr++ ;
}
}
}
}
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using System;
namespace Exercice3
{
class palindrome
{
static  string  convert ( string  s)
{
char []tChar =s.ToCharArray ();
char car;
for ( int i=0,j=tCharlLength-1;i<j;i++,j-- )
{
car = tCharl[i ;
tChar[i] = tChar[j] ;
tCharfj] = car ;
}
return  new string (tChar);
}
static  void Main( string []args)
{ Console.WriteLine ("Your string :");
string  Mystring = Console.ReadLine ();
string  strCnv = convert ( Mystring );
if ( Mystring == strCnv )
Console.WriteLine ("palindrome !");
else
System .Console.WriteLine ("Not palindrome !");
Console.ReadLine ();
}
}
}
$ o]
=F% t %/ ( 12)43 (" * # :C YE - #:C -* O ( C# & #:
( "P$(0 2B 0 =7?NO& <+ F%Ot %3!(: "p7$ "™ p(?5 p*6
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Monday 25 April 2006
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i1
while (i <n)and (T[i] <> x) do
i+l
end_while
if T[i] = x then
ord i;
write(“the element exists, order:”,ord);
else
write(“element not found”)
end_if
- <2G - 12 ( X ( N&H*O

Bottom, Middle, Top, Order : Integer;

Bottom 1;
Top N;
Order -1;

repeat
Middle (Bottom + Top)div 2;
if x = T[Middle] then
Order Middle;
else
if T[Middle] < x then
Bottom Middle + 1;
else
Top Middle-1;
end_if
end_if
until ( x = T[Middle] )
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http://www.functionx.com/csharp/index.htm
http://www.csharphelp.com/
http://www.ssw.uni-linz.ac.at/Teaching/Lectures/@&iTutorial/
C# How to Program, Dietel & Associates, Prenticd, 2003
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